



06/25/2025 09:00 AM | Load In Day 1 06/26/2025 09:00 AM | Load in Day 2 06/27/2025 09:00 AM | Load In day 3 06/28/2025 09:00 AM | Load in Day 4 06/28/2025 05:00 PM | Event Date 06/28/2025 05:00 PM | Stand by Team 06/29/2025 08:00 AM | Strike

PO: Shipping Address: Belmond El Encanto 800 Alvarado Pl, Santa Barbara, CA 93103 Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: May 6, 2025 Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Cerermony					
	Custom Made Chair Covers with padding- for Chaivary Chairs Need a Chair to Make sure Chair Covers will Fit need to choose Color	250	\$90.00	Т	\$22,500.00
			Total Cererm	iony	\$22,500.00
Cocktail Hour					
	Garden Daybed - Caserta - Daybed W/ Awning Painted in Black With Covers in Green? 4'x8'	2	\$480.00	Т	\$960.00
	Coffee Tables - Toronto - Rectangular Painted in Black 36"W x 22"L x 17"H - Frame Color & Top Upon Request	4	\$204.00	Т	\$816.00
	Ottomans - Standard Pod Green 18"RND x 17"H - Cover Color Upon Request	12	\$42.00	Т	\$504.00
	Mix and Match Pillows	16	\$36.00	Т	\$576.00
	Garden Tables - Caserta - Stand Up Table 36"Diam x 40"H	5	\$300.00	Т	\$1,500.00
X	Stand Up Tables - Cartagena - Black Wood 36"Diam x 42"H	5	\$300.00	Т	\$1,500.00
	Stand Up Tables - Maui - Black Circular Wood 36" Diam x 42"H	5	\$300.00	Т	\$1,500.00
I	Small Dining Tables - Maui - Black Circular Wood 36"Diam x 30"H	4	\$276.00	Т	\$1,104.00

escription		Qtty	Price		Total
X	Small Dining Tables - Cartagena - Black Wood 36"Diam x 42"H	4	\$276.00	Т	\$1,104.0
	Garden Tables - Caserta - Bistro Table 36"Diam x 30"H	4	\$300.00	Т	\$1,200.0
	Garden Club & Lounge Chairs - Shakespeare Garden - Metal 24"W x 28"L x 36â 🛙 H	8	\$303.60	Т	\$2,428.80
	Club And Lounge Chairs - Black Iron & White Cushions in Green 28"W x 31"D x 33"H	4	\$300.00	Т	\$1,200.00
H	Club & Lounge Chairs - Mango Wood Chair W/ Linen Cushions & Brass Capped Feet & Armrests Cushions in Green 26"W x 32"D x 33-1/2"H	4	\$336.00	Т	\$1,344.00
	Bars - Cabo San Lucas - Straight 12' Bar Finish TBD with Over Hang TBD 12'W	1	\$3,840.00	Т	\$3,840.00
	New - Bars Cabo san Lucas - Straight 12' Bar Finish TBD With OVer hang TBD	1	\$3,840.00	Т	\$3,840.00
	Barback - Tokyo - Straight Basic 6' X 8'4"h - Metal Color TBD 6'W x 18"L x 8'4"H - Frame Color Upon Request	4	\$360.00	Т	\$1,440.00
			Total Cocktail Ho	our	\$24,856.80
ception @Lo	tus Pond _ Drapes and Panels				
	Panels - Hedge Panel 4'x10' 4'X10'H	50	\$192.00	Т	\$9,600.00
	Panels - Hedge Panel 2'x10' 2'W x 10'H	6	\$120.00	Т	\$720.00
	Custom Made Dark Green Fabric TBD 18 Panels - 12'x 12'H to Back Flowers Walls Price will change according to the Fabric we are choosing and in stock	1	\$1,800.00	Т	\$1,800.00
	Custom Made Dark Green Fabric TBD 6- Double Sided Pullbacks 17'x 12'H	1	\$13,200.00	Т	\$13,200.00
			40.100.00	–	¢2 120 00
	Fabric Treatment to Cover Working Space 150 x 12'H - Black to Green in stock to be removed Friday evening or Saturday morning	1	\$3,120.00	Т	\$3,120.00

		Qtty	Price		Total
	Ceiling Treatment in 2 Shades of Beige 48 Pieces Double sided - 8'9"x12'H Pleated Fabric TBD	1	\$48,000.00	Т	\$48,000.00
	Ceiling Treatment in 2 shades of Green 28- Pieces 15'9"x 9'H Pleated Fabric TBD	1	\$43,200.00	Т	\$43,200.00
	Finials TBD	1	\$0.00	Т	\$0.00
	Total Reception @) Lotus Por	d Ceiling Treatm	ent	\$91,200.00
Reception @ Lo	tus Pond				
	Bars - Cabo San Lucas - Straight 8' Bar Custom Finish TBD 8'W	2	\$1,800.00	Т	\$3,600.00
	Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal	2	\$372.00	Т	\$744.00
	8'W x 18"L x 8'7"H - Frame Color Upon Request				
	Banquettes - Pasadena - Ivory Velvet - 8'	8	\$480.00	Т	\$3,840.00
	8'w x 39"D x 30"H				
	Custom made Covers in Green TBD	8	\$360.00	Т	\$2,880.00
	Custom made Table Cloth with Custom Print For a 8'x 40"x 30"H	18	\$1,800.00	Т	\$32,400.00
		Total Rece	ption @ Lotus Po	ond	\$43,464.00
After Party Enti					
	ance				
	Bolter Pillows in Blush For Banquets	4	\$72.00	Т	\$288.00
		4	\$72.00 \$120.00	T T	
	Bolter Pillows in Blush For Banquets Accent Table - Madrid - Gold Frame				\$480.00
	Bolter Pillows in Blush For Banquets Accent Table - Madrid - Gold Frame 14"W x 7"L x 25"H Accent Table - Madrid - Giusti Marble Top 16.6"W x 16.5"L x 21"H In stock Blush Velvet to Cover entrance Hallway to After Party with Valannce	4	\$120.00	Т	\$480.00 \$552.00
	Bolter Pillows in Blush For Banquets Accent Table - Madrid - Gold Frame 14"W x 7"L x 25"H Accent Table - Madrid - Giusti Marble Top 16.6"W x 16.5"L x 21"H In stock Blush Velvet to Cover entrance Hallway to After	4	\$120.00 \$138.00	Т	\$480.00 \$552.00 \$4,800.00
	Bolter Pillows in Blush For Banquets Accent Table - Madrid - Gold Frame 14"W x 7"L x 25"H Accent Table - Madrid - Giusti Marble Top 16.6"W x 16.5"L x 21"H In stock Blush Velvet to Cover entrance Hallway to After Party with Valannce 200'x 13'H -Pipe and Base + Tiebacks In stock Blush Velvet To Cover entrance Foyer	4	\$120.00 \$138.00 \$4,800.00	T T T	\$480.00 \$552.00 \$4,800.00 \$3,600.00
	Bolter Pillows in Blush For Banquets Accent Table - Madrid - Gold Frame 14"W x 7"L x 25"H Accent Table - Madrid - Giusti Marble Top 16.6"W x 16.5"L x 21"H In stock Blush Velvet to Cover entrance Hallway to After Party with Valannce 200'x 13'H -Pipe and Base + Tiebacks In stock Blush Velvet To Cover entrance Foyer 150 x 13'H - Pip and Base + Tiebacks Banquettes - Pasadena - Straight Ivory W/ Skirt 6' With Blush Covers	4 4 1 1 4 4	\$120.00 \$138.00 \$4,800.00 \$3,600.00	T T T T	\$288.00 \$480.00 \$552.00 \$4,800.00 \$3,600.00 \$1,680.00 \$1,680.00
After Party	Bolter Pillows in Blush For Banquets Accent Table - Madrid - Gold Frame 14"W x 7"L x 25"H Accent Table - Madrid - Giusti Marble Top 16.6"W x 16.5"L x 21"H In stock Blush Velvet to Cover entrance Hallway to After Party with Valannce 200'x 13'H -Pipe and Base + Tiebacks In stock Blush Velvet To Cover entrance Foyer 150 x 13'H - Pip and Base + Tiebacks Banquettes - Pasadena - Straight Ivory W/ Skirt 6' With Blush Covers	4 4 1 1 4 4	\$120.00 \$138.00 \$4,800.00 \$3,600.00 \$420.00	T T T T	\$480.00 \$552.00 \$4,800.00 \$3,600.00 \$1,680.00

escription		Qtty	Price		Total
	Coffee Tables - Pedestal Small painted in TBD 18"x18" H	12	\$108.00	Т	\$1,296.00
	In stock Drape To Cover main Ballroom in Emerald Green Velvet 200'x 12'H	1	\$4,560.00	Т	\$4,560.00
	Stage Treatment in Silver liquid lame and Millar Drape	1	\$2,400.00	Т	\$2,400.00
	40' Runs of Metallic tinsel for Ceiling 2' H Attached on Ceiling	10	\$264.00	Т	\$2,640.00
	Banquettes - Wood & Velvet - End Left 5'w x 29"1/2D x 35"H	2	\$420.00	Т	\$840.00
	Banquettes - Wood & Velvet - End Right 5'w x 29"1/2D x 35"H	2	\$420.00	Т	\$840.00
	Banquettes - Wood & Velvet - Straight 8'w x 30"D x 35"H	2	\$420.00	Т	\$840.00
	Barback - Curved Alcoves W/ Shelves - 3 Arches 22'W x 18"L x 10'H	2	\$5,400.00	Т	\$10,800.00
	Bars - Santa Barbara - Square Molding 8' 8'x 30"x 42"H	4	\$1,080.00	Т	\$4,320.00
			Total After Pa	arty	\$28,968.00
ter Party Out	side		Total After Pa	arty	\$28,968.00
ter Party Out	side Booths - Built In Channeled Booth in Chocolate Brown Suede 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17"	4	Total After Pa \$600.00	arty T	
ter Party Out	Booths - Built In Channeled Booth in Chocolate Brown Suede 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17" Club & Lounge Chairs - Manchester - Exposure Club Chair	4			\$2,400.00
rter Party Out	Booths - Built In Channeled Booth in Chocolate Brown Suede 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17" Club & Lounge Chairs - Manchester - Exposure Club		\$600.00	T	\$2,400.00
ter Party Out	Booths - Built In Channeled Booth in Chocolate Brown Suede 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17" Club & Lounge Chairs - Manchester - Exposure Club Chair		\$600.00	T	\$2,400.00 \$1,872.00
rter Party Out	Booths - Built In Channeled Booth in Chocolate Brown Suede 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17" Club & Lounge Chairs - Manchester - Exposure Club Chair 33"W x 33"L x 43"H Club & Lounge Chairs - London - Cranleigh Club Chair	6	\$600.00 \$312.00	T	\$2,400.00 \$1,872.00 \$2,208.00
ter Party Out	Booths - Built In Channeled Booth in Chocolate Brown Suede 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17" Club & Lounge Chairs - Manchester - Exposure Club Chair 33"W x 33"L x 43"H Club & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"H Club & Lounge Chairs - London - Concord Club Chair Club & Lounge Chairs - London - Concord Club Chair	6 8	\$600.00 \$312.00 \$276.00	T T T	\$2,400.00 \$1,872.00 \$2,208.00 \$1,656.00
ter Party Out	Booths - Built In Channeled Booth in Chocolate Brown Suede 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17" Club & Lounge Chairs - Manchester - Exposure Club Chair 33"W x 33"L x 43"HClub & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"HClub & Lounge Chairs - London - Concord Club Chair 34"W x 36"L x 35"HSmall Dining Tables - Paris - Bistro Table W/ Marble Top	6 8 6	\$600.00 \$312.00 \$276.00 \$276.00	T T T T	\$28,968.00 \$2,400.00 \$1,872.00 \$2,208.00 \$1,656.00 \$1,656.00

	Qtty	Price		Total
Stand Up Tables - Tulip Base - Multicolor 32" Diam x 41"H	10	\$360.00	Т	\$3,600.00
Small Dining Tables - Antique Brass Round 40"Diam x 30"H	4	\$360.00	Т	\$1,440.00
Dining Chairs - Antique Brass Finish Metal Wishbone 18" x 18" x 31.5"H	30	\$33.60	Т	\$1,008.00
Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	4	\$300.00	Т	\$1,200.00
Console Tables - Bucharest - Brass & Mirror 39"W x 13.5"L x 30"H	2	\$228.00	Т	\$456.00
Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	8	\$156.00	Т	\$1,248.00
Mix and Match Pillows	20	\$36.00	Т	\$720.00
Club & Lounge Chairs - Manchester - Wing Back Club Chair 33"W X 37"L X 39"H	3	\$276.00	Т	\$828.00
Sofas - London - Chesterfield 02 86"W x 40"L x 31"h	4	\$552.00	Т	\$2,208.00
	Total	After Party Outs	side	\$24,948.00
Delivery Drive and install Day 1	8	\$650.00		\$5,200.00
Delivery Drive and install Day 2	12	\$650.00		\$7,800.00
Delivery Load in Install Day 3	12	\$650.00		\$7,800.00
Delivery Install Day 4 & vent Day	12	\$500.00		\$6,000.00
Stand By Saturday	2	\$350.00		\$700.00
Strike Cocktail Team	4	\$350.00		\$1,400.00
Strike Team For Reception and After Party	12	\$650.00		\$7,800.00
Drive to LA Monday	12	\$350.00		\$4,200.00
Transportation	4	\$700.00	Т	\$2,800.00
	32" Diam x 41"H Small Dining Tables - Antique Brass Round 40"Diam x 30"H Dining Chairs - Antique Brass Finish Metal Wishbone 18" x 18" x 31.5"H Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H Console Tables - Bucharest - Brass & Mirror 39"W x 13.5"L x 30"H Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H Mix and Match Pillows Club & Lounge Chairs - Manchester - Wing Back Club Chair 33"W X 37"L X 39"H Sofas - London - Chesterfield 02 86"W x 40"L x 31"h Belivery Drive and install Day 1 Delivery Drive and install Day 2 Delivery Load in Install Day 3 Delivery Install Day 4 & vent Day Stand By Saturday Strike Cocktail Team Strike Team For Reception and After Party Drive to LA Monday	Stand Up Tables - Tulip Base - Multicolor1032' Diam x 41'H1Small Dining Tables - Antique Brass Round440'Diam x 30'H3018' x 18'' x 31.5'H30Coffee Tables - Bucharest - Brass & Mirror444.5'W x 24.75'D x 20.5'H2Console Tables - Bucharest - Brass & Mirror239'W x 13.5'L x 30'H20Mix and Match Pillows20Club & Lounge Chairs - Manchester - Wing Back Club Chair332'W x 37'L x 39'H3Sofas - London - Chesterfield 02486'W x 40''L x 31'h8Delivery Drive and install Day 18Delivery Drive and install Day 212Delivery Install Day 4 & vent Day12Strike Cocktail Team4Strike Team For Reception and After Party12Drive to LA Monday12Strike Team For Reception and After Party12Drive to LA Monday12	Stand Up Tables - Tulip Base - Multicolor10\$360.0032' Diam x 41'HSmall Dining Tables - Antique Brass Round4\$360.0040'Diam x 30'H30\$33.60\$33.60Dining Chairs - Antique Brass Finish Metal Wishbone30\$33.6018' x 18' x 31.5'H30\$300.00Coffee Tables - Bucharest - Brass & Mirror4\$300.0044.5'W x 24.75'D x 20.5'H2\$228.0020\$36.00\$156.0019.25'W x 16.5'D x 24.75'H3\$276.00Mix and Match Pillows20\$36.00Club & Lounge Chairs - Manchester - Wing Back Club Chair3\$276.0030'W x 37'L x 39'H\$252.00\$66'W x 40'L x 31'hDelivery Drive and install Day 18\$650.00Delivery Drive and install Day 212\$650.00Delivery Drive and install Day 312\$650.00Delivery Install Day 4 & vent Day12\$350.00Strike Cocktail Team4\$350.00Strike Team For Reception and After Party12\$650.00Drive to LA Monday12\$350.00	Stand Up Tables - Tulip Base - Multicolor10\$360.00T32' Diam x 41'HS\$360.00TSmall Dining Tables - Antique Brass Round4\$360.00T40'Diam x 30'H30\$33.60TDining Chairs - Antique Brass Finish Metal Wishbone30\$33.60T18' x 18' x 31.5'H30\$300.00TCoffee Tables - Bucharest - Brass & Mirror4\$300.00T44.5'W x 24.75'D x 20.5'H2\$228.00TConsole Tables - Bucharest - Brass & Mirror8\$156.00T19.25'W x 16.5'D x 24.75'H8\$156.00TMix and Match Pillows20\$36.00TClub & Lounge Chairs - Manchester - Wing Back Club3\$276.00TSofas - London - Chesterfield 024\$552.00TBelivery Drive and install Day 18\$650.00TDelivery Drive and install Day 312\$650.00TDelivery Drive and install Day 312\$650.00TDelivery Install Day 4 & vent Day12\$350.00TStrike Cocktail Team4\$350.00TStrike Team For Reception and After Party12\$650.00TDrive to LA Monday12\$650.00TDrive to LA Monday12\$350.00T

Description		Qtty	Price	Total
	Hotel Rooms From Thursday to Monday- Hotels will Be finalized by time of Booking	2	\$1,375.00	\$2,750.00
	Manager on site - pre production & Presentation	1	\$15,000.00	\$15,000.00
	Flame Proofing	1	\$2,500.00	\$2,500.00
	per diems From Wed to Monday	9	\$570.00	\$5,130.00
	perdiem From Thr- To Monday	4	\$475.00	\$1,900.00

Please make checks payable to Revelry, Inc.	Total Products:	\$275,776.80
Note: Driver to delivering and pick upp all invaigns must be pay in full	Total Labor/Services/Misc:	\$79,230.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Wear & Tear (4.00%):	\$11,031.07
	Packing (2.00%):	\$5,515.54
Notes	Taxes (tax excempt):	\$0.00
	Discounts:	(\$0.00)
	Total:	\$371,553.41
	Payments:	(\$0.00)
	Balance:	\$371,553.41